Metti in colonna e calcola
con la prova:

1017+8072=__ 3812-1038=__ 265x5= = 6.846:8=
7000+1161=_  7017-5485=_ = 247x2= = 8835:7=
7586+968= _ = 6624-1925=-_ = 1272x7=___ = 6259:7=
8877+99%=__  7094-3427=___ 1244x8=___  7148:3:=
9179+383= _ = 5212-4646=-__  370x5= = 3934:4-
1.628 + 7.014 = 9.015-2.271= 158 x 51 = 3412: 6=
2.061+7.68 = 9.164 - 6.015 = 82 x 22 = 2.860:2+=
5834+631= ___ 9363-3228=___ 175x17=___ __ 3.037:3=
6413+1459=__  4966-2989=__  110x16=____ 7382:8=
2.333 +6.053 = 8.670 - 6.751 = 140 x 36 = 9.499:5 =

E QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola

con la prova
7670+1035=___ 521+5039=__ 2.214 + 413 =
2308+3766=__ 7888+1249= 5.151 + 2.306 =
2640+3050+3623=__ 721+6318+2535=_ = 3834+2433+H52=___
8.782-3389=__ 9593-2037=___ 9.320-6.809=___
7237-1761=___ 2740-911= 3.441-3.123 =
7328-4509=___ 7087 -3426=__ 8805-5548=__
1.866 x 2 = 707x8= 4386 x2 =
94 x 12 = 277 x32=____ 73 x92 =
5.340:4 = 7789:2=__ 8.980:4-=

8.661: 8 = 1991:3= 1.626: 4 =




LE QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola

con la prova:
817 + 6.635 + 391 = 9.219 - 3.106 =————— 102 x 98 =
5.000 + 133 + 4.255 = 4693-4565=—— 63 x36=
989 + 1.887 + 4.206 = 7552 -2877=—— 118 x74:=
629 +2.017 + 2917 = 4821-4605=— 197 x43:=
3718 +3987+2041=—  4600-863= — 61x49:=
1261+1255+2428= 6684-311= 363 x6=
5.730 + 265 + 3.149 = 1809-722= — 1250 x4-=
328 +1.160 + 138 = 6.037-220= — 631x6 =
1.059 + 18 + 4.792 = 8154-7274=— 819x4 =
4176 + 244 + 2,883 = 8.000-895= — 486 x2 =

7401: 2=
7501:5=
9787 :5=—
6266:6=—

5110: 3 =

3350: 6= —
7300:4=—

1815: 5=

1275:6=—
60777 =——

LE QUATTRO OPERAZIONI ENTRO IL 9.999

2436 + 3.641 =

4741+ 341=

3.832 +3.115 +1.876 =
3.658 -2.478 =

5.800 - 4.816 =

6.092 - 5.689 =

2925 x 2 =

385x19 =

6.428 : 6 =

7170: 6=

Metti in colonna e calcola

con la prova
1.745 + 6.176 = 1.997 + 5931 =
1.425 + 2568 = 1.884 + 565 =
4570+ 2.170 + 1527 = 3.000 +4.801 +1.120 =
9.049 - 8,972 = 6.283 - 484 =
9.000 - 4.342 = 6.362 - 1404 =
9.123 - 3.761 = 9.018 - 5.998 =
752 x 6 = 1.355 x5 =
122 x 17 = 53 x 44 =
6.535: 4= 8.585:7 =
8.293:5+= 7.025:8 =




LE QUATTRO OPERAZIONI ENTRO IL 9.999

SFa
Metti in colonna e calcola
con la prova:

|
1031+4085+1260=—_ 7158-3098=__ 181 x46=-_  5H5150:3 =——
101+4361+35H599= ___ 3289-3056=_ 254 x15=-____ = 3805:3 =
1742 +4843+937=— 9615-1734=-—_ 479x14=-___ = 6501:3 =
3340+3456 +3004=—__ 4786-2896=_  438x20=—_ 8944:2 =
1.769+5548 +218=__ 7944 -3881=___ 17/75xb57=___ 9b15:7 =
61+3351+1900=- 8988 -8126=_ 1429x2=-_______ 6935:5 =
1.728+5880+2345=__ 7000-1799=__ 1216 x3=— 4186:7 =—
2300+3352+1117=_  B5326-3973=__ 1544 x2=-__ 45H17:3 =
361+3746+2454=-_  2029-242=-__ 483 x6=- __ 2353:6 =
4232+43+1702= ____ B340-212= 1217 x2=____ 1570:5 =
LE QUATTRO OPERAZIONI ENTRO IL 9.999
Metti in colonna e calcola
con la prova

3326 +1716 = 1849+4793 = 5572+824=-__

5297 +4349=_ 6529+1492-___ 1764+3.340=__

2342 +1227+5367=__ 3766 +2262+1338=—_ 315+4044+5454=-__

5462 -2977=-____ 7594 -4608=-____ 5674-135=

3409-1487=-____ 9126 -3728=__ 8916 -5800=__

8576 -209= 2425-704=- 9975-7605=____

181 x 8 = 2251 x4-= 267 x 2 =

86 x 66 = 205 x 14 = 150 x 14 =

6.827 : 5= 9.101: 6= 5245 : 6 =

1598 :7 = 6.570: 5= 9.936:6 =
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